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Functional Skills Level 2
MATHEMATICS

Paper 2 Calculator

Tuesday 25 February 2020 Afternoon Time allowed: 1 hour 30 minutes

Materials

For this paper you must have: —
e a calculator 11+
¢ mathematical instruments. ] |

Instructions

Use black ink or black ball-point pen. Draw diagrams in pencil.

Answer all questions.

You must answer the questions in the spaces provided. Do not write outside the
box around each page or on blank pages.

If you need extra space for your answer(s), use the lined pages at the end of
this book. Write the question number against your answer(s).

Do all rough work in this book. Cross through any work you do not want to be
marked.

State the units of your answer where appropriate.

Information

The marks for questions are shown in brackets.

The maximum mark for this paper is 60.

You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

¢ If your calculator does not have a 7T button, take the value of JT to be 3.142

Advice
In all calculations, show clearly how you work out your answer.
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Section A

Answer all questions in the spaces provided.

Which point has the coordinates (-2, 3)?

(x.9)
yl\
4

3

Circle your answer.

-2 xD
-3 C
—4

A B C

=Y

[1 mark]
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2 Here is an isosceles triangle. box
AB=AC

B C

Work out the size of angle x.
[3 marks]

ABC = BCA  Qiace 505 conay
\8e — 26 = \uly by ~2=3F2

Atbc = BCcA= 32

Motes in stotsht b o] b %o

) (o —F2 = \B

Answer lOY °

Turn over »

0 3
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3 A cuboid is shown below. box

A

3 (a) Draw the elevation of the cuboid in the direction of the arrow.
[1 mark]

0 4
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3 (b) Work out the total surface area of the cuboid.
5=y x2 = kO
7 x4y x2 = b
) K5 w2 T 2o
LO 4+ lb4k20 = F&

[3 marks]

Answer 7— qo cm?

Turn over for the next question

Turn over »

05

IB/M/Mar20/8362/2

Do not write
outside the
box



PassFunctionalSkills.co.uk

6
4 Here is a tree diagram.
Event 1 Event 2
Red
0.7 7
Red =

07 7~ A
/ 0.3 Blue

Red
0.7
0.3

Blue

03 Blue

Work out the probability of Red in Event 1 and Red in Event 2

O FXO0F =0 .9

[2 marks]

Answer O . L(g

0 6
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5 A cylinder has radius 3.2 cm and height 7.5 cm

@

7.5cm

N~

Work out the volume of the cylinder.

Aveee  of \oete
o
et =32 x k3.2 = 22.\F

22 | =75 = 2412

[2 marks]

Answer 2 L—( ( ".73 cm3

Turn over for Section B

Do not write
outside the
box

Turn over »
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Section B

Answer all questions in the spaces provided.

6 Cycle race

Mean 4 1 stars
Median 4 stars
Range 3 stars

Paul and Fran want to enter a 60 km cycle race.

Review Score (stars) Frequency
1 0
2 1
3 1
4 4
5 6

6 (a) They look at the reviews of two races, A and B, from last year.
Each review gives a score out of 5 stars to show how good the race was.

Here is some information about the review scores for Race A.

The frequency table shows the review scores of Race B.

Sceove Kﬁeﬁ/

-
2

5

\ o
Lo

Which race do they enter?
You must show your working.

Al—2= L .25

They enter the race with the higher average review score. 5 \

[4 marks]

‘la\ce

@ Siace

L.25 > L.\

0 8
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6 (b) Fran wants to buy a new bike for the race.

She sees this offer.

Racing bike
£708 including VAT at 20%

SPECIAL OFFER
WE PAY THE VAT

Fran has £600 to spend.

Can she afford the bike?

You must show your working.
[3 marks]

O3B = 20/

(Fo¥ - o) xtoo= 590
Yes, |, Sthe hen S600
the blkﬁ Cen¥sS %gﬁ@

Question 6 continues on the next page

Turn over »
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6 (c) Paul and Fran start the race at the same time. box
Fran cycles the 60 km at an average speed of 15 miles per hour.
Fran completes the race and waits for Paul to finish.

Paul finishes the race in 167 minutes.

Does Fran wait for more than 10 minutes?
Use 1 mile = 1.6 km
You must show your working.

Szé b= & t= 2y =25
\vi S Yhouvs
23— l’l,ou/S = (5O W"l‘ﬁs

[4 marks]

IC2 — 15 = F iy coende)
\,/C.S/ She—  vealty for 1T s

170
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7 Supermarket box

Lucas is going shopping at a supermarket.

7 (a) Lucas has a budget of £50 per week for food.

He has already spent £12.50 on takeaway meals.

What fraction of his budget does he have left?

56 — 12.50 = ¥Y+-5©
33+.5©9 o ég
sO

[2 marks]

Answer B/H

Question 7 continues on the next page

Turn over »
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7 (b) Lucas buys a 450 g packet of biscuits. box

BiSCU itS Contains

36 biscuits

He reads the label.

Sugar content 26.4gper100g
Maximum recommended
daily amount (MRDA) of 30¢g
sugar

Lucas eats 2 biscuits.

Work out the percentage of the MRDA of sugar in the 2 biscuits.
[4 marks]

L5026 = 12-54  per bixolr
1.5 X2 =28, =

oo T4 Kx2e:h=6:-0y

Y (o= 272

26

Answer 2 Z %

12
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Do not write
outside the
7 (c) Lucas looks at his car’s petrol gauge and decides to fill up the petrol tank. box

The petrol tank holds 70 litres when full.
Petrol costs 126.8p per litre.

How much does Lucas pay to fill up the tank?
[4 marks]

OO — 24 = 3G /. C,VM/@%I:\J

O L < TO=T 532 Licres A

5372 « 26% = (345, 2Ge
—Sb=+. 4G

Answer £ 6 -? L('(O 10

Turn over »
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8 Driveway box
Meg owns a company that builds concrete driveways.

8 (a) Here is a sketch of a plan of a driveway made from a rectangle and a triangle.

35m Not drawn
accurately
48 m
|
10.2m |
Sy !
|
|
!
6.5m 3
Meg charges £120 per square metre to construct the driveway.
Work out the total amount she charges for the driveway.
[4 marks]

L5 -25=%
©.2 - LW =54

V2 \p'\2 -

(0O -2Lx<3.5 — 36 T
-—(;ZWS,LL«'
Ex5.y x3 = € o \m2

Losed B +35.7F = 4b.5~*
L% X 2o = 55256

Answer £ 52’ 5 (O

1 4
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Do not write
outside the
8 (b) Meg promises the customer that the driveway will be constructed in 7 days. box

Meg has 3 workers.

It would take the 3 workers 11 days to construct the driveway.

Work out the minimum number of extra workers Meg needs to employ.
Assume all workers work at the same rate.

You must show your working.
[4 marks]

D=\ =22 Jla:ss o vl B

ona. \workev

LB — F < L. F\ Worke.c
neefed @-r > Less.

Cont e 0. F1 of erdcar,
Qe V\Z«e_cg S5 ‘cv‘(""-p\.

he. hx So S—-3 ‘—'Z-)
She neads 2 rmore

Answer

Question 8 continues on the next page

Turn over »
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8 (c) Meg paints a different driveway with a waterproof coating. box
The driveway covers an area of 35.75 m?

The coating is made by mixing sealant and water in the ratio 3: 8
2 litres of the coating will cover 1 m? of driveway.

Sealant is sold in 1.5 litre bottles.

How many bottles of sealant does she need?
[5 marks]

25. 45 <2 = S Libes needod

D+ =)

R e L B 2 7)

LA X6 S = (0.9 1 tres o8 Secdau—
needeld

7.5~ I.5 =\ botles

Answer \ 2 13
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9 Apartment box
Pete wants to rent an apartment near Norwich city centre.

9 (a) He records information about 10 apartments on a scatter diagram.
The diagram shows
the distance from the city centre in km

the weekly rent in £

600
500 1
ERERSRREN NRCERRT o
Weekly 480 A T S
300 e T e T TS T T
__\r\
X IO
200 IBRBFIRL N§
| : [ .)Z‘\\\
100 i
EEENE
0 1
0 1 2 3 4 5

Distance from city centre (km)

The table shows extra data about two other apartments.

Distance from city centre (km) Weekly rent (£)
2 250
3.2 180

Pete rents an apartment for £280 per week.

Use the scatter diagram with the extra data to

estimate the distance from the city centre to the apartment.

You must show your working, which should be on the diagram.
[4 marks]

Answer 2 . :’"

Question 9 continues on the next page

Turn over »
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9 (b) Pete has a scale diagram of the living room in the apartment. box
Pete wants to cover one wall with wallpaper.
The width of the wall on the scale drawing is 15.9 cm
The scaleis 1:60

The wallpaper Pete wants
comes in rolls of width 0.53 m and length 10.05 m

costs £13.85 per roll.

The height of the room is 2.65 m

Pete cuts the rolls into lengths of 2.65 m

Work out the total cost of the rolls of wallpaper that Pete needs for the wall.
[6 marks]

6O %15 .9 =75U cm
1O.05 —2.6= 2.% O T3 Shem
> ol @pgthg RQer vol\
97154 = 53 = \% Wﬂm needed)
1« =2 =6 yoA\S r\-e,u:Qﬂ.C‘
Gx\5.$5= %.\0

Answer £ % 3 O

1B/M/Mar20/8362/2
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19

9 (c) Pete wants to hide the wires from his TV.
Wires can be hidden in plastic trunking.

Trunking can be cut to any length.

Pete needs three pieces of trunking measuring

1l metres
2

21 metres
4

90 cm
Pete has 15 feet of trunking.

Is this enough?
Use 1 foot =12 inches

Use 1inch=2.5cm
[4 marks]

15 <2 = €O nches

1LO w258 = LEOcw.

l'\fz, w — 150 Cwn 2'(74‘%‘— 1S <
225 T 4o LeSaw
NO/, Nhe hes Lo e~ bok

needs U5 i~

END OF QUESTIONS
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There are no questions printed on this page

DO NOT WRITE/ON THIS PAGE
ANSWER IN THE/ SPACES PROVIDED

2 0
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21
Do not write
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Question Additional page, if required. box
number Write the question numbers in the left-hand margin.
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22
Do not write
outside the
Question Additional page, if required. box
number Write the question numbers in the left-hand margin.
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Question Additional page, if required. box
number Write the question numbers in the left-hand margin.
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There are no questions printed on this page

DO NOT WRITE/ON THIS PAGE
ANSWER IN THE/SPACES PROVIDED
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each live examination series and is available for free download from www.aqa.org.uk.
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